PULUZ 360 Intelligent Electronic
Panorama Shooting Head

User Manual

User Manual Lanauges: EN /ES /FR/DE/PT/IT/RU/JP/CN



Product Feature:

It is suitable for Smartphone / GoPro / DSLR. The maximum load is
1kg. It can not only be used as a mini tripod with 360 degree rotation,
but also support your panoramic or selfie photography to get creative and
amazing experience of photographing.

Product Accessories:

(6)

(1) Panorama Head (4) Mount Adapter
(2) Remote Controller (5) Long Screw
(3) Phone Mount (6) USB Cable

Specification:

Weight: 210g

Bottem Diameter: 75mm

Max Load Capacity: 1kg ( Max )
Speed: 2-5r / min

Work Hours: 9h

Tilt Angle: 30° To -50°

3 - - 3 Rotation: 360°

01



A. Body Part

01. Rotary Knob

02. Rubber Mat A
03. Rubber Mat B
04. Angle Adjustment A
05. Angle Adjustment B

06. 1/4 Universal Screw  11. Rubber Mat

07. Horizontal Base 12. Power Switch
08. Receptor 13.1/4 Screw Hole
09. Indicator Light 14. USB Interface

10. Support Leg

B. Remote Controller

01

&
&

PULUZ 360

01. 24 Pic/r 06. Turn to the next

02. 36 Pic/r angle every 10 seconds
03. 48 Pic/r 07. Stop

04. Panorama Switch 08. Take Photo

05. Turn Left 09. Turn Right

Note:

1. To take 24/36/48 pictures per rotation;

2. You need choose the number and then press 05 or 09;
Use the panorama function of your smartphone to take a
panoramic picture;

3. Press 04 and then press 05 or 09;

The remote control should be directed at the infrared
port of the product.

02



Instruction

A.Connection

1. Switch on by pressing (12), the
indicator light (09) will flash continuously
in green. Then open bluetooth in your
phone, find “PULUZ 360"and connect it.
Accordingly the indicator light (09) will
shine in green all the time.

1. With a 1/4 universal screw (06), mount the angle adjustment B (05) on the
horizontal base (07) and pull out the support leg (10) as Photo 2.

2. Put the phone on the gap between rubber mat A and rubber mat B, then
clamp the phone by rotating the knob (01) in the directionof T “+" (Photo 2).

Loosen it in opposite direction.

3. Tilt the phone in P*+” or “-” direction to adjust the angle of photographing
(Photo 3)

4. It is suitable for GoPro (as Photo 4) / DSLR (as Photo 5).

C. Indicator Light

Indicator light flashes in green continuously, waiting to connect Bluetooth;
When connected successfully, shines in green. When receiving remote
controller's command, flashes in blue; When charging, in red light; Fully

charged, red light off.
03



B POLUZ

de Cabezal de Disparo de Panorama
Electrénico Inteligente de PULUZ 360

Manual de Instruccién

04



Introduccion de produccién:

El producto es conveniente para el teléfono mévil / GoPro / DSLR, con
la capacidad de sporte maximo de 1 kg. Se puede utilizar como un tripode
de sobremesa en miniatura, que puede girar a 360 ° con una constante Ll";{
velocidad y proporcionar un apoyo estable para la fotografia panoramica y
autorretrato, asi como suministrar un buen soporte para la realizacion de
fotografias creativas.

Accesorios del producto:

6)

1) PTZ (4) Adaptador

(2) Dispositivo de control remoto  (5) Tornillos largos
(3) Clips del teléfono movil (6) Cable del USB
Parametros:

Peso : 210g

Diametro inferior: 75mm
Cojinete de carga: 1 kg (maximo)
Velocidad: 2-5 vueltas/minuto
Horario de trabajo: 9 horas
Angulo de la echada: 30 ° a-50 °
Angulo horizontal: 360 °

05



A. Cuerpo principal de la PTZ

01. Perilla de fijacion
02. Alfombra de goma A
03. Alfombra de goma B

08. Receptor
09. Luz indicatora
10. Pie de soporte

04. Asiento de ajuste de angulo A 11. Almohadilla del pie

05. Asiento de ajuste de angulo B 12. Interruptor de alimentacion
06. 1/4 tornillo de conexion 13. 1/4 Aguijero de tornillo

07. Placa giratoria horizontal 14. Interfase de USB

B. Dispositivo de control remoto

01

04—
05—
06—

07—

01. 24 piezas / circulo 06. Pasa al siguiente angulo
02. 36 piezas / circulo en el intervalo de 10 segundos
03. 48 piezas / circulo 07. Parada
04. Interruptor de cambio  08. Fotografia
panoramico 09. Giro derecho
05. Giro izquierdo
Note:
1. Para tomar imagenes 24/36/48 en cada rotacion que usted
necesita elegir el nimero;
2. Luego seleccione el botén 05 o 09 Utilice la funcion
panoramica en el teléfono para tomar un foto panoramico;
3. Presione el boton 04 y, a continuacion, presione 05 o 09
El control remoto debe estar orientado hacia el puerto de
infrarrojos del producto para controlar.

06



Instrucciones de uso

A. Emparejamiento de teléfonos méviles

1. Encienda el interruptor de la energia de
PTZ (12), la luz indicadora verde(09) se
enciende constantemente, encienda el
teléfono para buscar Bluetooth "Puluz 360",
conecte Bluetooth " PULUZ 360", se
demuestra la conexion de teléfono mévil con
éxito, la luz indicadora roja (09) se enciende
constantemente.

B. Instalar teléfono mévil

como Figura 1 como Figura 2 comoFigura 3

Q d
como Figura 5
1. Conecte el asiento de ajuste de angulo B (05) al tornillo de conexidn 1/4 (06),

apriete la placa giratoria horizontal (07) y, a continuacion, tire el pie de soporte (10)
como se muestra en la Figura 2.

2. Cologue el teléfono mévil en una ranura entre la alfombra de goma A (02) and la
alfombra de goma B (03), y a continuacion, fije el teléfono girando la perilla (01) en
la direccion T "+" (como Figura 2). Aflojarlo en la direccidn opuesta.
3. Incline el teléfono en la direccion P "+" o "-" para ajustar el angulo de fotografiado
(Figura 3)
4. Este producto es es conveniente para GoPro (como Figura 4)/DSLR (como
Figura 5).

C. Descripcion de la luz indicadora

La luz indicadora en verde destella continuamente, esperando para conectar
Bluetooth; Cuando esta conectado con éxito, se brilla constantemente la luz verde.
Al recibir el mando del dispositivo de control remoto, se parpadea la luz azul; Al
cargar, se enciende la luz roja; Una vez se termina la carga, la luz roja se apaga.

07



B POLUZ

Téte motorisée PULUZ pour une prise de vue
intelligente et panoramique a 360 degrés

Mode d'emploi



Propriétés du produit:

Ce produit convient & des appareils Smartphone / GoPro / DSLR. La
charge maximum est de 1kg. Il peut non seulement servir d'un mini trépied
sur table avec rotation a 360°, mais aussi donner un support solide pour
une prise de vue panoramique ou des selfies de maniére a favoriser une
expérience photographique créative.

<E|

Accessoires du produit:

(1) Téte panoramique (4) Adapteur
(2) Télécommande (5) Vis longue
(3) Support téléphone portable (6) Cable USB

Descriptif technique:

Poids : 210g

Diametre de la base : 75 mm
Charge maximum : 1kg
Fréquence de rotation : 2-5tr/min
Heures de travail : 9h

Angle de tangage : de 30° a -50°
Angle horizontal : 360°

09



A. Parties principales de la téte

01

01. Bouton de fixation 08. Récepteur

02. Coussin en caoutchouc A 09. Voyant lumineux

03. Coussin en caoutchouc B 10. Appui au sol

04. Ajustement angulaire A 11. Coussin

05. Ajustement angulaire B 12. Interrupteur d'alimentation
06. 1/4 Vis de fixation 13.1/4 Trou de vis

07. Base horizontale 14. Interface USB

B. Télécommande

01

04—
05—

02 01.24 Pic/tr 06. Changer au prochain

03 02.36 Pic/tr angle toutes les 10 secondes
08  03.48 Pic/tr 07. Arrét

09  04. Commutateur Panorama 08. Prendre une photo

06— 05. Tourner a gauche 09. Tourner a droite

07— Remarque:

1. Pour prendre 24/36/48 images & chaque rotation;
2. Choisissez le numéro puis appuyez sur 05 ou 09 Utilisez
la fonction Panorama du smartphone;

3. Appuyez sur 04 puis sur 05 ou 09 La télécommande
doit étre orientée vers le port infrarouge du produit pour
controler.

10



Mode d'emploi

A.Connexion

1. Appuyez sur le bouton Interrupteur
d'alimentation de la téte (12) et le voyant
lumineux (09) clignotera continuellement en
vert. Et puis ouvrez le Bluetooth sur votre
téléphone mobile, cherchez PULUZ 360 et
connectez. Si le téléphone mobile est
connecté, le voyant lumineux (09) brillera en
vert en permanence.

vy J
Image 1 Image 3 Image 5

1. Montez I'ajustement angulaire (05) sur la base horizontale (07) avec la 1/4 vis de
fixation (06) et tirez I'appui au sol (10) comme Image 2.

2. Installez le téléphone mobile sur la rainure entre cuisson en caoutchouc A (02) et
cuisson en caoutchouc B (03), et puis fixez le téléphone mobile en utilisant le Bouton
de fixation (01) dans la direction T "+" (Image 2). Desserrez-le dans la direction
opposée.

3. Inclinez le téléphone mobile dans la direction P "+" ou "-" pour ajuster I'angle de
prise de vue (Image 3).

4. Ce produit est compatible avec GoPro (Image 4) / DSLR (Image 5).

C. Voyant lumineux

Si le voyant lumineux clignote continuellement en vert, c'est que I'équipement
est en état d'attendre la connexion avec le Bluetooth. Si le voyant lumineux brille
en permanence, c'est que I'équipement est connecté avec le Bluetooth. Le bleu
indique la bonne réception des signaux depuis la télécommande. Le rouge
indique que I'équipement est en train d'étre rechargé et quand le rechargement
est fini, le voyant est éteint. 1

<E|



B POLUZ

PULUZ 360 Elektrischer Kopf der Wiege
von Smart-Panoramaaufnahme

Benutzerhandbuch



Produkteinfiihrung:

Das Produkt ist geeignet fiir Handy / GoPro / MILC, die maximale
Belastung ist 1 KG. Es kann als das Stativ der Mini-Tischplatte verwendet
werden und um 360 °konstant gedreht werden. Es bietet stabile
Unterstiitzung fiir Panoramaaufnahme und Selbstaufnahme, was die gute
Unterstiitzung fiir die kreative Fotografie versorgt.

Standardausfiihrung der Produkte:

(1) Kopf der Wiege (4) Adapter

(2) Fernbedienung (5) Lange Schrauben
(3) Klamme des Handys (6) USB-Datenkabel
Parameter:

Gewicht: 210g
Bodendurchmesser: 75mm
Belastung: 1kg (max.)
Geschwindigkeit: 2-5 Runde / Min.
Arbeitszeit: 9 Stunden
Neigungswinkel: 30 ° bis -50 °
Horizontaler Winkel: 360 °

El¢



A. Hauptteil des Kopfs der

01. Den Drehknopf sperren

02. Gummidichtung A

03. Gummidichtung B

04. Winkelverstellsitz A

05. Winkelverstellsitz B

06. 1/ 4 Verbindungsschrauben
07. Horizontaler Drehteller

B. Fernbedienung

01

04—
05—
06 —

02 0124 Blatter / Runde

03 02.36 Blatter / Runde

08  03.48 Blatter / Runde

09 04. Panoramaschalter
05. links abbiegen

Hinweis:

Wiege

08. Empfanger

09. Kontrollleuchte

10. stutzfiBe

11. FuBpolster

12. Netzschalter

13.1/ 4 Schraubenlécher
14. USB-Schnittstelle

06. Intervalle von 10 Sekunden
auf den néachsten Winkel

07. stoppen

08. fotografieren

09. rechts abbiegen

1. Um 24/36/48 Bilder in jeder Umdrehung zu machen;
2. Missen Sie die Nummer wahlen und dann 05 oder 09 driicken
Verwenden Sie die Panorama-Funktion im Smartphone;

3. Driicken Sie 04 und dann 05 oder 09 Die Fernbedienung

sollte zur Infrarot-Schnittstelle des zu Produkts

weisen.

14



Gebrauchsanweisung
A.Handy koppeln

1. Offnen Sie den Netzschalter des Kopfs der
Wiege (12), die Kontrollleuchte (09) leuchtet
haufig in Griin an, 6ffnen Sie das Handy und
suchen Sie nach dem Bluetooth ,,PULUZ
360", verbinden Sie den Bluetooth ,,PULUZ
360", das Hany zeigt an, dass es
angeschlossen ist, die Kontrollleuchte(09)
leuchtet sténdig in Griin.

B. Handy installieren

0

@ s
03
05

06
w@
10

bbildung 1

E

Abbildung 2

o

- —— Abbildung 5
1. Verbinden Sie den Winkeleinstellsitz B (05) mit der 1/4 Anschlussschraube (06),
ziehen Sie ihn auf dem waagerechten Drehteller (07) an und ziehen Sie den
Stiitzful (10) wie in Abbildung 2 gezeigt heraus.

2. Legen Sie das Handy auf den Schlitz zwischen der Gummidichtung A (02) und der
Gummidichtung B (03) und dann drehen Sie den Drehknopf nach T "+" (01), um das
Handy zu verriegeln(siehe Abbildung 2), umgekehrt wird es lésen.

3. #Drehen Sie das Handy nach P ,,+" ,~“Richtung, um den Aufnahmewinkel
einzustellen (siehe Abbildung 3).

4. Dieses Produkt ist fiir GoPro (siehe Abbildung 4) und die Kamera (siehe Bild 3)
geeignet.

C. Beschreibung der Kontrollleuchte

Die stroboskopische beleuchtung in Griin bedeutet, dass es auf
Bluetooth-Verbindung wartet; Standige Beleuchtung in Griin bedeutdet, dass der
Bluetooth bereits verbunden ist; Bei dem Empfang der Fernbedienungsanweis-

ungen sind es in Blau; Beim Ladevorgang ist es in Rot, nach dem Beenden der
Aufladung beleuchtet es nicht an. 15



B POLUZ

Suporte elétrico de tiro inteligente
panoramico de PULUZ 360

Manual de Instrucado




Descrigdo do produto:

O produto é adequado para celular / GoPro / Micro DSLR, com uma
carga maxima de 1 kg. Pode ser utilizado como um Mini Tripé de desktop,
pode rodar em 360 graus a uma velocidade constante. O produto pode
fornecer um suporte estavel para o tiro panoramico e autorretrato,
fornecendo um bom apoio para a realizagéo de fotografias criativas.

Configuragao de padrao do produto:

(1) Suporte
(2) Controle remoto
(3) Clipe de celular

Parametros:

1d

(4) Adaptador
(5) Parafuso comprido
(6) Cabo de dados USB

Peso: 210g

Diametro inferior: 75mm

Carga de suporte: 1kg ( maximo )
Velocidade de rotagdo: 2-5 voltas / min.
Horas de funcionamento: 9 horas
Angulo de inclinacéo: 30 ° a -50 °
Angulo horizontal: 360°



A. Corpo do suporte

01. Botdo rotativo de bloqueio
02. Junta de borracha A

03. Junta de borracha B

04. Ajustador de angulo A

05. Ajustador de angulo B

06. Parafuso de conexdo de 1/4
07. Mesa giratoria horizontal

B. Controle remoto

Nota:

02  Ol. 24 fotografias/volta

03  02.36 fotografias/volta

08  03.48 fotografias/volta

09  04.Interruptor panoramico
05. Virar a esquerda

08. Receptor

09. Luz indicadora

10. Pé de suporte

11. Almofada de pé

12. Botéo de ligagéo e desligagdo
13. Furo de parafuso de 1/4

14. Interface de USB

06. Gira para o préximo angulo
com um intervalo de 10 segundos
07. Parar

08 Tirar fotos

09. Virar a direita

1. Para tirar fotos 24/36/48 em cada rotacao;

2. Vocé precisa escolher o niimero, e depois pressione

05 ou 09 Use a funcéo panoramica no smartphone;

3. Pressione 04 e depois pressione 05 ou 09 O controle
remoto deve ser

para a porta de i

no produto para controlar.



Manual de instrugao

A. Combinar o celular

1. Abre o Botdo de ligagéo e desligagao (12)
do suporte, a luz indicadora (09) flash em
verde, abre o celular procurando o Bluetooth
"PULUZ 360" e conecte, o celular exiba “ja
esta ligada”, a luz indicadora (09) vai acender
sempre em verde.

1. Conecte o ajustador de angulo B (05) ao parafuso de conex&o de 1/4 (06),
aperte-o na mesa giratéria horizontal (07), e puxe o pé de suporte (10) como
mostrado na Figura 2.

2. Coloque o celular na ranhura entre a junta de borracha A (02) e a junta de
borracha B (03) e, depois gire o botao de bloqueio rotativo (01) no sentido de
para bloquear o celular (veja a Figura 2), no sentido contrario para solte-o.

3. Puxe o celular no sentido de “+™-"de P para ajustar o angulo de tiro (Figura 3).
4. O produto é adequado para GoPro (Figura 4) e camara (Figura 5).

C. Descricao da luz indicadora
Flash em verde significa aguarda para a conex&o de Bluetooth; acende sempre
em verde significa o Bluetooth foi conectado; azul indica recebida das instrugdes
de controle remoto; a luz vai ser vermelha durante o processo de carregamento,
quando concluir o carregamento, a luz n&o vai acender.

19



B POLUZ

PULUZ 360 Panoramica Smart
Shooting PTZ Elettrico

Manuale d'Uso

20



Introduzione del prodotto:

Il prodotto & adatto per il cellulare / GoPro / telecamera specchio, il
carico massimo & 1KG. Si puo essere utilizzato come treppiede per mini
tavolo, si puod essere ruotato a 360 °. Fornire un supporto stabile per la
ripresa panoramica e l'autoscatto, e fornire un buon supporto per la

realizzazione della fotografia creativa.

Standard componenti di prodotto:

1) PTZ
(2) Telecomando
(3) Clip telefonica

Parametri:

(4) Adattatore
(5) Viti lunghe
(6) Cavo dei dati USB

Peso: 210g

Diametro inferiore: 75mm

Carico: 1kg (max)

Velocita: 2-5 giri / min

Ore di lavoro: 9 ore

Angolo di inclinazione: da 30 ° a -50 °
Angolo orizzontale: 360 °

21

11



A. Corpo di PTZ

01. Manopola del blocco

02. Piastra di supporto in gomma A
03. Piastra di supporto in gomma B
04. Regolatore d’ angolo A

05. Regolatore d’ angolo B

06. 1/ 4 viti di collegamento

07. Piattaforma girevole orizzontale

B. Telecomando

01 02 0124 fogli / giro
03 02.36 fogli / giro

08. Ricevitore

09. Indicatore luminoso

10. Supporto del piede

11. Piedino del piede

12. Interruttore di alimentazione
13.1/ 4 fori per viti

14. Interfaccia USB

06. All'angolo successivo
dopo intervallo di 10 secondi

04— 08 03.48 fogli / giro 07. Fermat

05— 09 04.Interruttore Panorama 08. Scattare foto
06— 05. Girare a sinistra 09. Girare a destra
07— Nota:

1. Per eseguire le 24/36/48 foto in ogni rotazione &
necessario scegliere il numero e premere 05 o 09 Utilizzare la
funzione panorama nello smartphone;

2. Premere 04, quindi premere 05 o 09 Il telecomando
dovrebbe essere rivolto verso la porta a infrarossi del
prodotto da controllare.

22



Istruzioni per I'uso
A. Abbinare il telefono

1. Accendere l'interruttore di alimentazione
PTZ (12), la spia (09) verde luminosa,
accendere il telefono per cercare Bluetooth
"PULUZ 360", collegare il Bluetooth "PULUZ
360", il display del telefono & collegato, con la
spia (09) verde luminosa.

1. Fissare il regolatore d'angolo B (05) a1/ 4 viti di collegamento (06), serrare sulla
piattaforma girevole orizzontale (07) ed estrarre il supporto del piede (10) come
mostrato in figura 2.

2. Posizionare il telefono su piastra di supporto in gomma A (02) e piastra di supporto
in gomma B (03), quindi bloccare il telefono (vedi figura 2) sulla manopola del blocco
T"+"(01), o shloccare in contrario.

3. Adirezione di P "+’ regolare la telecamera, e regolare I'angolo di ripresa
(Figura 3).

4. Questo prodotto & adatto per GoPro (Figura 4) e la fotocamera (Figura 5).

C. Istruzioni della spia

Stroboscopio verde & per attendere la connessione Bluetooth; la spia verde &
per il Bluetooth che & stato connesso; le istruzioni ricevute di telecomando & per
il blu; il processo di caricamento & rosso; non & luminoso per il caricamento
completo.

23




B POLUZ

PULUZ 360 rpagycoB anekTpuyeckas naHopamHas
MHTenneKTyanbHas ronoeka ans gororpaduu

PyKOBOACTBO no NpMMeHeHnro

24



OnucaHue npoaykra:

370 NpoayKT noaxoanT MobunsbHomMy TenedoHy/ GoPro / DSLR,
MaKcUMarnbHas HeCyLLas TSHKECTbCO CTaBnseT Tkr. MOXHO nomnb3oBaTbest
el kak MUHU-HAcTONbHbIN WTaTVB. [0N10BKE MOXHO KpyTUTbCS B 360
rpajlycToB CTeneHb, YTo6bl NpeAnaratb NaHopamHol doTorpadum n cendm
CcTabunbHY0 NOAAEPXKKY W Aenatb KpeaTuBHYIo doTorpaduio.

MakeT BKINIOYEH:

(6)

(1) NaHopamHas Fonoska (4) Agantep

(2) MynbT ANCTAHLMOHHOTO ynpaBieHns (5) ANVIHHBIN BUHT
(3) TenedoHbIit 3ax1M (6) USB Kabenb
MapameTp:

Taxectb: 2101

[Avametp gHa: 75Mm

Hecyuias Texxectb: mak. 1kr.

CKOpOCTb Kpy>KeHus: 2-5 060pOTOB / MUH
Bpems pabortbi: 9 uacos

Yron HaknoHa: ot 30 ° go -50 °
Fopu3oHTanbHbI yron: 360 °

25



nd

A. NaHopamHas ronoBka

01. KOHTPOBOYHaA pyyka

02. pesnHoBas npoknaaka A

03. pesuHoBas npoknagka B

04. cnpieHbe peryIMpoBKM yria HaknoHa A
05. cpieHbe peryImpoBKM yra HakioHa B
06. 1/4 noacoeANHVBLLNIA BUHT

08. npuemHnk

09. cBeTOBOW MHAMKATOP

10. onopHble HOXKM

11. HoXHas noayLika

12. BKrouaTeNb U BbIK/KOUATEb MUTAHNA
13. 1/4 BuHTOBOE OTBEpPCTUE

07. rop13oHTa/bHbIN MOBOPOTHbINA cTon  14. USB crot

B. MynbT AUCTaHUMOHHOIO ynpaBrneHus

01 02 01. 24 oo / kpyr

03 02.36 poto / kpyr
04— 08 03.48 doro / kpyr
05—
06 —

07—

3amertka:

06. Yepes 10 cekyHz
nepeiT K Cieytoliemy yray
07. ocTaHOBMTbCA

09 04. Mepekntouatens naHopamsl 08. dotorpadms
05. MoBsepHyTb Haneso

09. MoBepHyTb HanpaBo

1. YroBei genats cHumkw 24/36/48 B KaxAOM NoBOPOTE;
2. Bam HyxHO BIBpaTS HOMEp, 3aTem HaxaT 05 wan 09
Mcrons3ayiiTe GyHKUMIO MaHOPaMB! 8 CMapTGOHe;

3. HaxwuTe 04, 3arem Haxwute 05 wnn 09 Mysbt
AVICTAHLVMOHHOTO YNPAB/IEHNA AOMXEH BbiTb 0BpaLLIEH K

vy nopry y

26

ansa



UHCTpYKLUMUA NO NPUMEHEHUIO
A.MoaknioyeHune k TenedoHy

1. BkniovaiiTe nutaHue ronoskn(12),
ycBeToBoro nHankatopa(09) ectb 3enéHbin
cTp06, HaiiguTe BnioTy3"PULUZ 360" B
TenedoHe, noaknyarTe Gniotys"PULUZ 360",
8 TenedoHe MoKaabiBaloT, y)ke NOAKIIoYany.
B 370 Bpems, y cBeToBOro nHamnkaropa(09)
€CTb CTabUbHbIA SIPKUii CBET.

B. YcTtaHoBneHue TenedoHa

A
Kak doro Kak doto2 Kak doro3

1. Moaknio4aiiTe cuaeHbeperynpoBky yrna HaknoHa B(05) K 1/4
nopcoeanHusLLemy BuHTY(06), AoBOpaumBaiiTe Nx Ha ropu3oHTarbHOM NMOBOPOTHOM
ctone(07), NoTOM BbITSITVBaRTEONOpHbIE HOXKM (10) Kak doTo 2.

2. MonoxwuTe TenedoH B Nas mexaypesvHoBoii npoknaakon A(02) u pesauHoBoi
npoknagkoi B(06), noTom foBOpa4vMBaiTEKOHTPOBOYHYO pyyKy (01) Ha npaeneHue
T'+" (kak ¢poTO2), Ha Apyroe NpaeneHue pacryckaiite.

3. HanpasneHue P“+"-" yperynupyiite yrna chotorpachum Tenedora.( kak coto 3).
4. 3ot npoaykT noaxoant GoPro (kak ¢oto4) n kamepe (kak oTo5).

C. O6bsiICHEHUe CBETOBOIO UHOUKaTopa
3enéHbliii CTPOG 3HAYUT OXMAAHWE MOAKMIOYEHUS K BNioTy3y, CTabunbHbIN
3enéHbIN SPKUI CBET 3HaumT, BNIoTy3 yxxe noakstodanu. Mpu nonyyeHun
VHCTPYKYWUW U3 MyfibTa AMCTaHLMOHHOTO YNpaBeHWsi, UHAMKATOP CUHUIA, Npn
3apsiake KPacHbIA, NPy 3aBepLUEHN 3apALKN, UHAMKATOP He CBETUTCS.

27



B POLUZ

PULUZ 360/8/ 5T AV — MBEETES
fEFEEBEE

28



SUmERAR:

LURRIE AT K/ GoPro / DSLRICHE. RABRERIFIKG. TAV by
TDIZREVRELTHEZS L. 360ERERAIRE T Y. /\/ S E— MR
LEBYDRIC. REDZ R, BIFEREEABYELLD,

BR/N—Y:

& 47

(4) (5) (6)

WEs @ BAAY K
@ VE-—pavia-L CES]
B) A=A Uy T (6) USBS —T L

itk

=8 2109

FO#8E4E: 75mm

&fER: IkgET

[EERA E— b: 2-54 =2 /%
{EENRSRS: OB

[E8zFE: 30°~ -50°
IKFFBE: 360°

dr

29



dr

0L Ov % [EEzER
02. T /8y KA
03. F4/8y KB
04. FREEERE/ S—Y

05. fER
06.1/4%>
07. Efizie

/X—Y

08. {55%2{J3
09. 15554 b
10. AR

11 fgp/Sy R
12. BFRA vF
13. 1/4% U 5%
14. USBHE&O

B.UE—btarvbo—-u

01

04—
05—
06—

07—

01 BER1EIF 24 EEEEBN S  06. 10 EE TROMBE
02. BEZ1EF3MERE BN ~BEL T LS,
03. EERlEF48BEE.ENS  07. BRAA( v F

04./8) 5RAA v F 08. 158
05. ez 09. AlElz
R

1. [lE524/36/48H0R Y DHEEE S0\ <% 315E;

2. BEMEENAL TH505F (309K 2 V&L T
El, A= b T+ 0T SREEE BEN SR DIBE;
3.047K% Y EHL THBOSFEL(F0IRE Y ERL T EL,
Y EQ Y ERROFINRZERICEN > THENCEE.

30



{sEFE5iEA

A. ATk & DiELG

WEBAAYF(12)EMLTCARES 51 M09)ld
RERMITTES.

AR R DBluetoothZONIZ LT, PULUZ 360
EIRT B,

AR FEEICEFEHERTIES T b
(09)I AR EABFLE FE B TIRAEITTR B,

rEm
1. AEFRE/\— Y (05)%1/4% ) (06)ICHEIL. BRI DI TR BIER(10)£5 | FH
7. (LREM2E T8 ER)

2. AR KRET LUy RA02)E T L/ RB(O3)DREICEBWLT. T+ 518 (01) DEER
TRIKREEET B AR KENT OB H A TEERY 5, (L5EM2E T2 8)
3. P4 DHE TAR RDBEAEE TR T 5. (L5
4. ZORRIFGoProl AASITER Y 5. (L5EH

C. {5551 bR

RERAIEBluetooth& DEFEFE R RE LA LEWVES & R
Bluetooth& & i & .

FEREVE-tIVIO-ILDERERZ .

FREIRBHABRT LIS AEIFETTS,

-
o

31



B POLUZ

PULUZ 360£ = 5E880BEN=E
{EFEEE




FEmEa:
HPRERTEN / GoPro / 148 , BAKEIKG, AIENMESER

ZREF | FISIE360° bR, HERIBREMRMIRESE , ALNEIRE
R RIFAI.

7= mmbiof:

—o_
1) )
o =8 (4) Ferek
(2) Efzas (5) iges
(3) FHk (6) USB #uEsk

= 210g

(2 75mm

E: 1kg (F&KX)
i 2-5)/ 8
TAERTIE): 9/)NE
IR 30°%-50°
IKFAE: 360°

33

ND



ND

P

01. #f&hEER

02. REZEAR A
03. 1REHR B
04. FEEATSEE A
05. FEETSEE B

B. E=s5:

06. 1/4% 182 11. g

07. KFPheht 12. EiREFFX
08. fzlizee 13. 1/4883|,
09. #E7THT 14. USB#EO
10. %R

01. 243K// 06. [EfBLOREEEI T— MR
02. 363K/F 07. &1k

03. 483K/F 08. 1f8

04. 28N 09 Al

05. 5%

R

1. 24/36/483K SBAITHAEBESCIRIMAYKEL

2. AATRHER0S A O RR LRI FH AU S BIRRII AR —3K
2RBA

3. J045% | BROSHE OB SRER AT RV INEID
RE,

34



A. BEXIFHL:

LITA=EREFX12) ,

FERKT (09)ERESAA |
FIFFEREF "PULUZ 360" ,
JEREIESF"PULUZ 360",
FNERCEE  BRTRE09)ER,

1. A EEATIREB(05) R 1/AERIRLL (06) | BERFEKFHE (07) £, RE

FIHSHEH(10) 0B

2 SBFH ARSI A A FIR B/ B(03)IBRVHE |, ZARAT" + ek Bt et
(01) SEEFNWET ) KZIAFF.

3.4EPRY "+" - FEHREVFHIETHRROME (NE=) .

4. WP ERiEFFGoPro (MNEM ) FIEHL (MNEH) .

C. $57RKTi5BA:

FEMNASFRTEE | FERRNETOEESR | BEEIERERES
NES ; RBIELE , RETHAR.

\B)

35



Licenced by: Shenzhen Puluz Technology Limited

Address: 7/F, 614 Bldg, Bagua 1st Road, Futian,Shenzhen,China

Tel:+86 755 83641729

Email:service@puluz.com

Website:http://www.puluz.com
https://www.facebook.com/Puzfans

Model: PU360
H@cere
. o5 Made in China

36






